
1.Select the correct mirror image of the given

combination when the mirror is placed at

MN as shown.

दिए गए संयोजन के सही िर्पण प्रतिबबंब का चयन

कीतजए जब िर्पण को MN र्र रखा जािा ह,ै जसैा दक

दिखाया गया ह।ै



Q.1 Select the related letter/word/number/figure from the 

given alternatives

दिए गए तिकल्र्ों में से संबंतिि अक्षर/शब्ि/सखं्या/आकृति का चयन करें

CD : HI

(A)AB : XY 

(B)KL : NO 

(C)IJ : MN 

(D)PQ : UV



Q.2 Select the related letter/word/number/figure from the 

given alternatives

दिए गए तिकल्र्ों में से संबंतिि अक्षर/शब्ि/सखं्या/आकृति का चयन करें

TOL : WRO :: GRA : ?

(A)JUC 

(B)JVF 

(C)JUD 

(D)JVE



Q.3 Select the related letter/word/number/figure from the 

given alternatives

दिए गए तिकल्र्ों में से संबंतिि अक्षर/शब्ि/सखं्या/आकृति का चयन करें

45 : 1625 : : 95 

: ?

(A)8125 

(B)2581

(C)4325 

(D)2564



Q.4 Select the related letter/word/number/figure from the 

given alternatives

दिए गए तिकल्र्ों में से संबंतिि अक्षर/शब्ि/सखं्या/आकृति का चयन करें

4826 : 5 : : 

7643 : ?

(A)6 

(B)9 

(C)5 

(D)4



Q.5 Select the related letter/word/number/figure from the 

given alternatives

दिए गए तिकल्र्ों में से संबंतिि अक्षर/शब्ि/सखं्या/आकृति का चयन करें

LAN : Network :: JAVA : ?

(A)High Level 

Language 

(B)Low Level 

Language 

(C)EDP 

(D)Processor



Q.6 Select the related letter/word/number/figure from the 

given alternatives

दिए गए तिकल्र्ों में से संबंतिि अक्षर/शब्ि/सखं्या/आकृति का चयन करें

FILM : 20 :: GROUP : ?

(A)30 

(B)35 

(C)19 

(D)40



Q.7 ‘Hard work’ is related to ‘Success’ in the 

same way as ‘Crime’ is related to ‘_________’.

कडी मेहनि' का संबंि 'सफलिा' से उसी प्रकार है जैसे 

'अर्राि' का संबंि '_________' से ह।ै

(A) Society 

(B) Police 

(C) Reward 

(D) Punishment



Q.8 ‘Cardiology’ is related to ‘Heart’ in the same 

way as ‘Pathology’ is related to ‘..........’.

'कार्डपयोलॉजी' का संबंि 'हृिय' से उसी प्रकार ह ैजैसे 

'र्ैथोलॉजी' का संबंि '..........' से ह।ै

(A)Body 

(B)Diseases 

(C)Man 

(D)Soil



Q.9 Select the option in which the words have 

the same relation between the words of the 

word pair given below. 

उस तिकल्र् का चयन करें तजसमें नीचे दिए गए शब्ि युग्म 

के शब्िों के बीच समान संबंि हो।

Calendar : Date

(A)Class : Group 

(B)Weight : Kilogram 

(C)Clock : Time 

(D)Food : Vegetarian



Q.10 Observe the relation between the first pair 

of words and identify the pair that has the same 

relationship from the below options.

शब्िों की र्हली जोडी के बीच के संबंि को िेखें और नीचे दिए 

गए तिकल्र्ों में से उस जोडी की र्हचान करें तजसमें समान 

संबंि ह।ै

Stool: Bench

(A)Carpenter: chair 

(B)Chair: table 

(C)Wood: steel 

(D)Foot-rule: yardstick



Q.11 Find the odd letter from the given 

alternatives.

दिए गए तिकल्र्ों में से तिषम अक्षर ज्ञाि कीतजए।

(A)P 

(B)Q 

(C)N 

(D)R



Q.12 Find the odd letter from the given 

alternatives.

दिए गए तिकल्र्ों में से तिषम अक्षर ज्ञाि कीतजए।

(A)School 

(B)Education 

(C)College 

(D)Kindergarden



Q.13 Find the odd letter from the given 

alternatives.

दिए गए तिकल्र्ों में से तिषम अक्षर ज्ञाि कीतजए।

(A)Sparrow 

(B)Crow 

(C)Firefly 

(D)Pigeon



Q.14 Select the odd word pair from the 

given alternatives

दिए गए तिकल्र्ों में से तिषम शब्ि युग्म का चयन करें

(A)Pen : Write 

(B)Knife : Cut 

(C)Microphone : Speak 

(D)Flower : Smell



Q.15 Find the odd number pair from 

the given alternatives.

दिए गए तिकल्र्ों में से तिषम संख्या युग्म ज्ञाि 

कीतजए।

(A)42-29 

(B)47-59

(C) 73-61 

(D) 57-69



Q.16 Find the odd number from the given 

alternatives

दिए गए तिकल्र्ों में से तिषम संख्या ज्ञाि कीतजए

(A)112 

(B)433 

(C)500 

(D)413



Q.17 Find the odd number from the given 

alternatives

दिए गए तिकल्र्ों में से तिषम संख्या ज्ञाि कीतजए

(A)3129 

(B)7103 

(C)6117 

(D)8135



Q.18 Find the odd number pair from the given 

alternatives.

दिए गए तिकल्र्ों में से तिषम संख्या युग्म ज्ञाि कीतजए

(A)14: 2644 

(B)12: 1728 

(C)13 : 

2197 

(D)11: 1331



Q.19 Find the odd number pair from the given 

alternatives.

दिए गए तिकल्र्ों में से तिषम संख्या युग्म ज्ञाि कीतजए

(A)7 - 81 

(B)9 - 121 

(C)11 - 169 

(D)5 - 47



Q.20  Find the odd number pair from the 

given alternatives.

दिए गए तिकल्र्ों में से तिषम संख्या युग्म ज्ञाि कीतजए

(A)11 -

110 

(B)9 – 72 

(C)7 – 42 

(D)5 - 30



Q.21 Three of the following four letter-

clusters are alike in a certain way and one 

is different. Pick the odd one out.

तनम्नतलतखि चार अक्षर-समहूों में से िीन एक तनतिि 

िरीके से एक जैसे हैं और एक अलग ह।ै

(A)CFIL 

(B)GHIJ 

(C)MOQS 

(D)PSUX



Q.22 Three of the following four numbers are 

alike in a certain way and one is different. 

Pick the number that is different from the rest

तनम्नतलतखि चार में से िीन संख्याएँ एक तनतिि िरीके 

से समान हैं और एक तिन्न ह।ै

(A)126 

(B)189 

(C)254 

(D)217



Q.23 Three of the following four words are 

alike in a certain way and one is different. 

Pick the odd word out

तनम्नतलतखि चार में से िीन शब्ि एक तनतिि िरीके से 

समान हैं और एक अलग ह।ै

(A)Groundnut 

(B)Mustard 

(C)Cumin 

(D)Fennel



Q.24 Select the odd word from the 

given alternatives.

दिए गए तिकल्र्ों में से बेजोड शब्ि का चयन 

करें।

(A)Book 

(B)Page 

(C)Pen 

(D)Diary



Q.25 Select the odd letters from the given 

alternatives

दिए गए तिकल्र्ों में से तिषम अक्षरों का चयन करें

(A)EGI 

(B)MOQ 

(C)UWY 

(D)NLJ

Tokyo



THANK   YOU


